FCC Part 15.407

Pass

110

110

Pass

110

110

5745 2169 22.18 2148 30,00
Trom (25°C) | Vnom (120) 5785 | | | 1 I | 2121 | 2206 | 2126 | 3000
5825 2138 21.90 2125 30 00

Fass

Tio

Ti0

I 2188 2 215 | 3000
Voom (120V) P 2149 | s000
¥ 147 2198 2133 30.00
802:11n(40MHz)

Pass
Pass
Pass

Pass

110

110

5755 22 | 2 | s | 2is | a0
Trom (25°0) | Vem (1201) 5705 111|119 | pies |z [ aow

m

Pass

Ti0

Ti0

Pass
Pass
Pass

I 3 2164 2225 61 30.00
Trom (25°C) | Vnom (120V) F . 30.00
il 2. 0 30.00

Pass

110

110

5755 24 | zior | sase | 21z | a0
Trom 25°0) | Vem (1201) S5 i | sis0 | i | 25z [ aw

Pass

Ti0

Ti0

| Tnomies'c) | voom(i2ov) | 155 | s775 | dess | trze | 679 | 652 | 675 [ 722 | 1679 [ 1652 | 3000 | Pass | 81 | & | 81 |

211ax(20MHz)

Pass

110

110

Pass

110

110

57 215 | zo | 2160 | 000
Toom 25°C) | viom (1200) S5 | i 7155 i T T 2 2
S5 315200 | 213 | 3000

211ax(40MHz)

Pass

Pass

Ti0

110

Ti0

110

5755 24 [ 2181 | 20 | 2160 | 000
Trom @9°C) | Vo (1201) 5705 70 71w 7210 | 71 [ oo

Pass

110

110

Sras
Toom 25°C) | viom (1200)

802:11n(20M¥z)

Toom @5°C) | vnom (1200

802.11n(40MHz)

Pass

——
Toms) | o 200 =

Pass

Pass

Pass

5745 30.00
Trom (25°C) | Vnom (120V) 5785 | I
5825 X

Pass

Pass

——
o) | o 20 =

Fass

| Tnomees'ey | voomeizov) | s5s | s77s | _ese | e | 2144 | 3000 | Pass | & | & |

211ax(20MHz)

Pass

Pass

5745
Trom (25°C) | Vnom (120v) S785 |
5825

211ax(40MHz)

Pass

Pass

211ax(B0MHz)

o758 g
Tom@5°0) | Vnom (200 575 5000

Pass

Pass

110

110

Pass

110

110

5745 30,00

Trom (25°C) | Vnom(120v) [ 167 | 6785 | | | I 1 1

5825
e m

Pass

Ti0

Ti0

2 E E 30.00
Trom (25°C) | Vnom (120V) 57¢ . E 3000
K K 30.00

802.11n(40MHz)

Pass

110

110

5155 3000
Trom 25°C) | Vom (1201) St 3050

Fass

Tio

Tio




5755 00| pass
Tron @5°0) | Vrom (200 [ e e 3000 | Pass

802.11ac(80MHz)

[Toom@sec) ] Voom(120v) [ 455 | 5775 1766 17.52 [ 7as | 7se | 2357 | 3000 | Pass | 81 | 81 | 81 | 81|

[_ta0 [ 6745 3000 | Pass
Trom 25°C) | Vnom (120) 5785 73000 | Pass | 10
765 T 5625 3000 | Pass

755 2670 | pass
Tron @5°0) | Vrom (P0%) [ e e i 2576 | Pass

o

755 2670 | pass
Tron @5°0) | Vron 20V [ e 57 2576 | pass

802.11ac(80MHz)

[Toemesec) ] veomgi2ov) [ dss | s7z5 | 1956 _____________| 1941 2878 | Pass | &7 | 87 |

[_ta0 [ 6745 2878 | Pass
Trom 25°C) | Vnom (120v) 5785 2878 | Pass |
|65 T 5625 2878 | Pass

802 11ax(40MHz)

o 5t | 55 2878 | Pass
Trom 25°0) | Voom (20V) [ ——isg T ses 2878 | Pass

155

e ] -

|19 | 5745 2577 | Pass
Trom (25°C) | Vnom (120v) 5785 | Pass.
|65 T 5625 Pass

bt o) | vrom (r20v) [—ot ] STS6 Pass | 102 [ 102 | 102 |
rom (25°C) |56 | 5795 Pass_| 02 | o0z | 02 |

802 11ac(20Mz)

|19 | 5745 2577 | Pass
Trom 25°C) | Vnom (120) 785 72577 | Pass | 02
|65 T 5625 2577 | Pass

802 11ac(4omz)

Trom@s°C) | Vrom (120 181|875 Pass | 102 | o2 | to2 |
rom 25°C) s T 505 Pass iz [0z | fo2 |

[ Toomes‘c) | Veom(i2ov) | 155 | 75 | ded2 | rse | wes | 72 | 2380 | 2677 | Pass | 81 | 81 | &1 | a1 |
802 11ax(20MHz)

|02 [ 102 | 102 |
|02 02 |0z ]
|02 | oz | 02 |

575 2577 | Pass
Trom (29°C) | Voom (120%) |59 T 6765 5 37 7577 [ pass

802 11ax(80MHz)




